Algebra 2 Review Worksheet 8.1
8.1 Direct Variation                                                       Name_______________________

Is each equation a direct variation? If it is, find the constant of variation.
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9. The distance that you travel at a constant speed varies directly with the

       time spent traveling. It takes you 2 h to travel 100mi.

a. Write an equation for the relationship between time and distance.

b. How far would you travel in 3.5 h?

10. The money you earn varies directly with the number of lawns you mow.

      You earn $36 for mowing three lawns.

a. Write an equation for the relationship between money earned and 

 lawns mowed.

b. How much money would you earn for mowing seven lawns?

For each table, tell whether 
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. If it does, write a 

function rule for the relationship between data.
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Suppose the ordered pairs in each exercise are for the same direct

variation. Find each missing value.
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23. Charles’s law states that at constant pressure, the volume of a fixed

      amount of gas varies directly with its temperature measured in Kelvins.

      A gas has a volume of 250 mL at 
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o

K.

a. Write an equation for the relationship between volume

temperature.

b. What is the volume if the temperature increases to 
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o

K?

24. Your percent grade varies directly with the number of correct answers.

      You got a grade of 80 when you had 20 correct answers.

a. Write an equation for the relationship between percent grade and 

numbers of correct answers.

b. What would you percent grade be with 24 correct answers?

25. The amount of simple interest earned in a savings account varies

      directly with the amount of money in the savings account. You have

      $1000 in your savings account and earn $50 in simple interest. How

      much interest would you earn if you had $1500 in your savings account?


8.1 Inverse Variation                                               





Find the constant of variation 
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 for each inverse variation.
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Each pair of points is from an inverse variation. Find the missing value.
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Tell whether the data in each table is a direct variation, or an inverse variation. Write an

equation to model the data.
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	x
	2
	7
	10

	y
	35
	10
	7


	x
	3
	6
	24

	y
	16
	8
	2


	x
	5
	6
	8

	y
	55
	66
	88
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	x
	2
	8
	16

	y
	9
	36
	72


	x
	2
	3
	9

	y
	18
	12
	4


	x
	2
	6
	10

	y
	4.2
	12.6
	21


21. The volume 
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of a gas in a closed container varies inversely with

       pressure
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, in atmospheres, that is applied to that gas.
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      a. If 
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23. In an electric circuit, the current 
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 varies inversely with the resistance 
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a. If 
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 = 10 amps when 
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 = 12 ohms, find 
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b. If 
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 = 3 amps when 
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 = 100 ohms, find 
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c. If 
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 = 0.5 amps when 
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 = 510 ohms, find 
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 when 
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 = 1.5 amps.
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